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QUESTICN-NC:-1

Given the following data at WORK DEMO:

PTID Sax Lge Height Weight
4578932 H 14 69.0 112.5
464389 F 1% 56.5 B4.0
47BB65 F 13 55.3 8.0
483476 F 14 G2.8 102.5
493847 H 14 6531.5 102 .5
500029 H 12 57.3 B83.0
513842 F 1z 59.8 Bd.5
515151 F i5 G2 .5 1i1z.5
522396 H 1} B2 .5 84.0
534787 N 12 59.0 99.5
536777 F 11 51.3 50.5
546823 ¥ 14 64.3 20.0
256677 ) 12 26.3 T7.0
565699 3 15 6.3 112.0
STB2E2 H 16 T2.0 130.0
635445 H 11 64.8 128.0

Which SAS program prints only the first 5 males in this order from the data set?

A.

proc sort data=WORK.DEMO out=out;
by sex;

run;

proc print data= out (obs=5);

run;

B.

proc print data=WORK.DEMO(obs=5);
where Sex='M';

run;

C.

proc print data=WORK.DEMO(where=(sex="M"));
where obs<=5;

run;

D.

proc sort data=WORK.DEMO out=out;
by sex descending;

run;

proc print data= out (obs=5);

run;

Answer: B
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QUESTION NO: 2

Which SAS program will apply the data set label 'Demographics' to the data set named DEMO?

A.

data demo (label="Demographics');
set demo;

run;

B.

data demo;

set demo

(label="Demographics'); run;

C.

data demo (label 'Demographics');
set demo;

run;

D.

data demo;

set demo;

label demo='Demographics';

run;

Answer: A

QUESTION NO: 3

The following SAS program is submitted:

proc sort data=SASUSER.VISIT out=PSORT;
by code descending date cost;

run;
Which statement is true regarding the submitted program?

A. The descending option applies to the variable CODE.
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B.
C.
D.

Answer: B

QUESTION NO: 4

What information can be found in the SAS Dictionary tables? (Choose two.)

A. datasets contained within a specified library
B. values contained within a specified format

C. variables contained within a specified dataset
D. values contained within a specified variable

Answer: A,C

QUESTION NO: 5

Given the following data set:

subijid

W =) o U b W B

LCtG

m e 30— mE

result

CR
PD
PR
CR
ab
D
FD
CR
P

he variable CODE is-sorted-by-ascen
he PSORT data set is stored in the SASUSER library.
he descending option applies to the DATE and COST variables.

dtime

]

= O B LR e B e

age

56
52
47
29
39
i |
a0
43
56

The following output was generated from PROC PRIMNT

Ol

- O R U Uy

subiid

1

o I T I BT U

EEL

o T T = -

resul
CE
FD
FE
CE
ah
ah
FD

it

dr ime

]

P LO ek [0 ek ek

age
56
52
47
29
39
21

a0
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output?

A.

proc sort data=one out=two;

by subijid;

run;

B.

proc sort data=one out=two nodupkey;
by subjid;

run;

C.

proc sort data=one out=two nodup;

by subijid;

run;

D.

proc sort data=one out=two nodupkey;
by subjid trt;

run;

Answer: B

QUESTION NO: 6

This question will ask you to provide a line of missing code.

The following SAS program is submitted:
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proc freq date=disc;
Linseart code herer
run;

to create the following output:

The FREQ Procedure
Takbhle of sice by group

=ice group
Freguency|
Percent |
Row Pect |Tetl | TER2 | TcE3 | Total
e e s e e +
SITEA [ 15 | E6 | 172 | 243
[ <.80 | 10.4%7 | 32.15 | 45.42
| 6.17 | 23.058 | 70.78 |
—————— e o ———— Fomm—————— +
21TEE | 24 | 4 | 154 | 292
[ 4. 458 | 13.83 | I6.26 | 54.58
| B.22 | d5.34 | 66.4949 |
————————— i L et
Tatal 38 130 A6 5 A5
.29 24.30 GB.41 100.00

Which statement is required to produce this output?

A. TABLES site*group /nocol;

B. TABLES site*group /norow;

C. TABLES site*group;

D. TABLES site*group /nocol norow;D. TABLES site*group /nocol norow;

Answer: A

QUESTION NO: 7

Which statement correctly adds a label to the data set?

A.

DATA two Label="Subjects having duplicate
observations"; set one;

run;
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B

DATA two;
Label="Subjects having duplicate
observations"; set one;

run;

C.

DATA two;

set one;

Label dataset="Subjects having duplicate
observations"; run;

D.

DATA two(Label="Subjects having duplicate
observations"); set one;

run;

Answer: D

QUESTION NO: 8

Given the following data set:

SUBJID GENDER AGE TET

& M 63 3
q M 63 1
5 F Ta g
1 F 45 1
L M 57 2
] F a9 1
3 M 5% 2

The following output data set was produced:

SUBJID GENDEF. AGE TET

3 M 57 1
3 M 5% 1
q M 63 2
q M 63 2
5 F T 3

Which SAS program produced this
output?
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proc sort-data=one(where=(age>50))-out=two;
by subijid;

run;

B.

proc sort data=one(if=(age>50)) out=two;
by subijid;

run;

C.

proc sort data=one out=two;
where=(age>50);

by subjid;

run;

D.

proc sort data=one out=two;

if age>50;

by subjid;

run;

.....

Answer: A

QUESTION NO: 9 CORRECT TEXT

The following question will ask you to provide a line of missing code.

The following program is submitted to output observations from data set ONE that have more
than one record per patient.

proc 2ot datcs=ons OULSTVol
by subjid:
rum;

dats cwo;
Set cwo:

<ingsert code herex
1f (first.subjid ne 1 or last.subjid ne 1)
run :

In the space below, enter the line of code that will correctly complete the program (Case is
ignored. Do not add leading or trailing spaces to your answer.).
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QUESTION NO: 10

Given the data set WORK.BP with the following variable list:

# Variable Type Lea Lalhel

1 DIABF B 3 Dimamtolic Hlood Pressure
2 FPTHO Char 1 Fatiant Number

x| SYSEF Huam 3 3yatolic Blood Pressure

The following SAS program is submitted;

ods a=lect Extremelbs:

proé univarisce data=woRE.B?;
var DIABP:
id PTHO:

Fun;

Which output will be created by the program?

- 9
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o0 w>»

Extreme Observations
Lowest Highest
Value Obs Value | Obs
68 190 119 51
[ 5
Extreme Observations
Lowest Highest
Value | PTNO Obs Value | PTNO Ohbs
B8 6007 190 119 2710 51
| e+
Extreme Observations
Lowest Highest
Value Obs Value Obs
62 129 112 60
63 8 114 4
63 133 114 147
b5 22 115 287
BB 190 115 51
& D
Extreme Observations
Lowest Highest
Value | PTNO Obs | Value | PTNO Obs
62 5023 129 112 3020 60
B3 1890 -] 114 1/01 4
63 | 5029 133 114 | 5109 147
65 | 2201 22 115 | 8077 287
68 | 6007 190 119 | 2710 51
. Option A
. Option B
. Option C
. Option D
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Answer:-B

QUESTION NO: 11

The following SAS program is

pProc univariate data=wWoORE . 3TUDY
by VISIT:
glass BREZICH TREAT:
var HBALC GLUCOSE:

runzs

You want to store all calculated means and standard deviations in one SAS data
set.

Which statement must be added to the program?

A. output mean std;

B. ods output mean=m1 m2 std=s1 s2;

C. output out=WORK.RESULTS mean=m1 m2 std=s1 s2,;

D. ods output out=WORK.RESULTS mean=m1 m2 std=s1 s2;

Answer: C

QUESTION NO: 12

Which program will report all created output objects in the log?

A.

proc ttest data=WORK.DATA1 ods=trace;
class TREAT;

var RESULTS;

run;

B.

ods trace on;

proc ttest data=WORK.DATA(1;

class TREAT;

var RESULTS;
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ods trace=log;

proc ttest data=WORK.DATA1;
class TREAT;

var RESULTS;

run;

D.

ods trace log;

proc ttest data=WORK.DATA1;
class TREAT;

var RESULTS;

run;

Answer: B

QUESTION NO: 13

Review the following procedure format:

FROC TIEST data=date;
class group-variable:
var wvarimble:

rumn}

What is the required type of data for the variable in this procedure?

A. Character
B. Continuous
C. Categorical
D. Treatment

Answer: B

QUESTION NO: 14

The following output is displayed:

12
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ZENDER WN3WER

Frequency| 1] 2 8| Total
————————— Frmmm e m e m e m e — e —————

1 1Z | 22 ] L g
--------- o

2 1 22 | 8 | 5 1 33
--------- e e
Total 34 30 8 Ta

1]
-3

Frequency Hissing

Which SAS program created this output?

A.

proc freq data=WORK.TESTDATA;

tables gender * answer / nocol norow
nopercent; run;

B.

proc freq data=WORK.TESTDATA;

tables answer * gender / nocol norow
nopercent; run;

C.

proc freq data=WORK.TESTDATA;

tables gender * answer / nocol norow nopercent
missing; run;

D.

proc freq data=WORK.TESTDATA;

tables answer * gender / nocol norow nopercent
missing; run;

Answer: A

QUESTION NO: 15

You want 90% confidence limits for a binomial proportion from a one-way table with PROC
FREQ. Which option must you add to the TABLES statement?

A. BINOMIAL
B. BINOMIAL ALPHA=0.9
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C. BINOMIAL-ALPHA=90
D. BINOMIAL ALPHA=0.1

Answer: D

QUESTION NO: 16

The following SAS program is

daca as;
input PTHNO AESOC § 6-32 AFPT 5 34-56 ONTREAT §:
cards:

2001 Cardiacs disgrders CHardisas Arrese ¥
2002 Infections and infestations Enpiyema Y
2002 Hepatohiliary disorders Hepatic failure ¥
2002 Infections and infestation=s Leptospirosis Y
2003 Nervous system disorders Cerebhral hemorrhadge Il
2004 Cardiamc disorders Cardisac arrest ¥
2004 Cardiac disorders Atriml fibrillation N
2006 Infections and infestations Wound infection T
2007 Fenal and ur:lnargr disorders Esnal ITallurce T
2007 Gagtrointestinal disorders Pancreatitis acute ¥
2007 Gagtrointestinal disorderzs GCastric ulcer Y
2008 Vazcular disorders Hypotension Y
008 Infections and infestations Sepsis Y
2010 Cardiac disorders Cardiac arrest T
2010 Penal and urinary disorders Renal failure acutce T
2011 Social circumstances Homicide N
Eun:

proc freq data=WORE.AE noprinc:
where ontreat="Y": tables as=oc / ouc=WORE.FREQL:
run:

proc print data=WORK.FREJ1 nooks:
where assac=MCardisc disorders™;:

War count;:
run;

What result is displayed for the variable
COUNT?

ow»
W N =

- 14

Get Latest & Actual IT Exam Dumps with VCE and PDF from Pass4itSure.
https://www.Pass4itSure.com



Answer:-C

QUESTION NO: 17

Given the following output from the TTEST Procedure: Variable:

Variable: fascglus

n Hean Scd Dev Std Err Minimum M imum
& 7.6517 0.4999 D.2041 &.9500 B.3700
Heman 85% CL Hean Std Dev 55% CL St Dew
T 6517 TL.12700 8.1763 0.4999 0.3121 1.2262
DF t Valus FE > |t
5 37.49 <.0001

What is the t-test p-value?

A. 0.3121
B. <.0001
C.37.49

D. 0.2041

Answer: B

QUESTION NO: 18

You want to calculate the p-value of Fisher's exact test for a 3x3 table. Which option must you add
to the TABLES statement of PROC FREQ?

A. CHISQ

B. CMH

C. EXACT

D. EXPECTED

- 15
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Answer:-C

QUESTION NO: 19

The following SAS program is

ods output ChiSgimatch all) = WORK.PVALUES (where=(statistic eq 'Chi-Sguare'})) :
proc freg dats=WORK.ENDFT:
talbles ENDPTL * TREAT / chiszg:
tables ENDPTZ * TREAT / chisgs
run;
ods oucput close ;

How many data sets are created and how many observations are in the data set(s)?

A. 1 data set named PVALUES with 1 observation.

B. 1 data set named PVALUES with 2 observations.

C. 2 data sets named PVALUES and PVALUES1 each with 1 observation.
D. 2 data sets named PVALUES1 and PVALUES2 each with 2 observations

Answer: C

QUESTION NO: 20

This question will ask you to provide a line of missing code.

16
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Zwen the Tollowing og enfry;

45
46
47
43
49
S0

HERGE
HERGE
NOTE:
NOTE:
NOTE:
NOTE:

data adsl :
nerge dm { in=1indra)
dizp (in=indi=p]:
ay subjid ;

ginseart code hares-
run ;

IS30TE: subjid=003 indw=]1 indisp=0

IS3ZTE: aubjid=005 indm=0 indisp=1

There were 4 obaervations resd from the data s=t WORE.DH.
There were 4 chaervations read from the data set WORK.DISF.
The data gset WORKE.ADSL has 5 ocbservations and 3 wvarciables.
DATA statcement used (Total process time) :

real tims 0.07 seconds=

ocpu time .01 seconds

Which line of code would produce the blue notes in the log?

A. if indm ne indisp then output 'MERGE ISSUE: ' subjid indm indisp ;

B. if indm ne indisp then put 'MERGE ISSUE: ' subjid= indm= indisp=;

C. %if indm ne indisp %then %put 'MERGE ISSUE: ' subjid= indm= indisp=;
D. if indm ne indisp then put 'MERGE ISSUE: ' _all_;

Answer: B

QUESTION NO: 21

Which option for PROC COMPARE will list all observations and variables found in only one of
the two data sets being compared?

A. LISTALL
B. OUTALL
C. ALLOBS
D. OUTDIFF

Answer: A

QUESTION NO: 22

Given the following log entry:

- 17
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47 datea hrates ;

45 werge dm hr :
49 by subjid :
50 Curn :

INFD: The variable sexcd on data set WORK.DM will be overwritten by data set WORK.HR.

HOTE: There were 4 cbservations read from the data set WORK.DH.
NOTE: There were 4 observations read from the data set WORK.HR.
NOTE: The data set WORK.HRATES has 4 observations and 4 variables.
NOTE: DATL scatement wused (Total process time):

real cime 0.06 seconds

cpu time 0.01 seconds

Which SAS system option adds the blue highlighted lines to the
log?

A. INFO

B. MSGLEVEL=|

C. INVALIDDATA='I'
D. NOTES

Answer: B

QUESTION NO: 23

A SAS report procedure results in the log below.

13 proc report data=vitals ;
14 column patid visit height weight sysbp diabp :
15 run }

NOTE: Hultiple concurrent threads will be used to surmarize data.
NOTE: There wers Z§5 obssrvations read Zrom the data set WORE.WVITALS.

HOTE: At least one W.D format was too small for the number to he printed.

decimal may be shifted by the "BES?" format.
NCOTE: The PROCEDURE REFORT printed page 1.
NOTE: PROCEDURE REFORT used (Total process time):
rzal time 0.01 =second=
cpu time 0.01 =econds

The

What should you add to the PROC REPORT to address the blue note in this log?

A. Use DEFINE statements with the WIDTH= option set large enough to print all values for

each variable

B. Specify COLWIDTH= option with a value large enough to print all values in the data
C. Use DEFINE statements where FLOW is specified for each numeric variable
D. Use a FORMAT statement with formats large enough to print all values for each numeric
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variable

Answer: D

QUESTION NO: 24

Which validation technique involves two programmers writing separate programs to produce
the same output, then comparing the result?

A. Independent Programming
B. Peer Matching

C. Identical Programming

D. Peer Review

Answer: A

QUESTION NO: 25

A SAS program is submitted and the following log is written.

893 data WIRK,.CHECEVISITS:

894 set WORE.VISITS (keep=PATID VISDTO VISDT1 VISDTZ WISDT: VISDT4) :
595 array VISDT(1:4):

896 do i=1 cto 4:

27 if VISDT (i) ?VISDT(1-1) gt 10 then output;
[=3=]+] end;
899 run;

ERRUR: Array Ssubscrilpt out of range at line 597 colwm 1.

What is the cause of this error message?

A. The ARRAY declaration is syntactically incorrect.
B. The IF statement is syntactically incorrect.
C. The DO loop tries to get a value from a variable which does not exist.

D. The IF statement tries to get ARRAY elements which are not
declared.

Answer: D
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QUESTION NO: 26

The following SAS program is submitted:

data WORK.TEST;

set WORE.WGTCODE;
if Subjcode='"WgtZ' then Descripbtion='Ower';

elze Description='Unknown';
run;

If the value for the variable Subjcode is "WGT2", what is the value of the variable
Description?

A. missing character value
B. Unknown

C. Over

D. Wgt2

Answer: B

QUESTION NO: 27

Given two data sets with the following variables:

Data Set HR Variables:

= SUBJD
= WISIT
= HRATE
Data Set DISP Variables:
= SUBJD
= WIST
= STATUS

Each data set was sorted by the subiect identifier (SUBJIDY and merned together, The resulting log is shown below.

50 data hrates ;

51 merge. hr disap ;
52 by subjid :

g3 Tun :

HOTE: MERGE statement has more than one data set with repeats of BY values.
NOTE: There were 13 obsearvations read from the data sst WOREK. HE.

NOTE: There were 6 cbservations read from the data set WORE.DISP.

NOTE: The data set TORE.HRATES has 13 obaervations and 5 variables.

20
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Why is

he-blue note showing-in-the log?

A. The variable VISIT occurs in both data sets but is not included in the BY statement.
B. There are no observations with matching values for SUBJID in either data set.
C. There are multiple observations with the same value for SUBJID in both data sets.

D. One of the two data sets has multiple observations with the same value for
SUBJID.

Answer: C

QUESTION NO: 28

The following SAS program is submitted, but fails due to syntax errors.

data WORE.TOTALEXPEND (keep=NMonthExp{lZ}):
get WORE.HONTHLYEXPEND [keep=Year Drug Disp):
array HonthExp{1lZ}:
do 1=1 to 12;
HonthExp{i}=Disp;
end;
drop 1:
Cun;

What is the cause of the syntax errors?

A. The keep= data set option should be (keep=MonthExp*).

B. An array can only be referenced in a KEEP statement and not within a keep= data set option.
C. An array cannot be referenced on a keep= data set option.

D. The keep= data set option should be (keep=MonthExp).

Answer: C

QUESTION NO: 29

Given the following data set DEMOG:
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Get Latest & Actual IT Exam Dumps with VCE and PDF from Pass4itSure.
https://www.Pass4itSure.com




SITE FATID
! 1
1 2
ol 3
1 L
1 10
i 1
2 2
2 3
& 4
A =
Z 10

DOB

11/25/1946
11/01/1972
10/13/1969
0%/ 168/ 1956
0572471909

03/15/1974
01/04/1981
12/22/196]
1272871976
10/04/1958
07/05/ 1969

SEECD

RACECD
1

P e

3 bfr L e e D3

Which selection below would be considered hard-coding?

A.

if sexcd eq 1 then sex = "Male" ;

else if sexcd eq 2 then sex = "Female" ;

B.

if site eq 1 then sexcd = 2 ; else
if site eq 2 then sexcd =1 ;

C.

if site eq 1 and sexcd ne 2 then check =1 ; else
if site eq 2 and sexcd ne 1 then check =2 ;

D

birthdt = input(dob, mmddyy10.) ;

Answer: B

QUESTION NO: 30

Given the file sites.csv:

TRTHNT
1

=B B

B i I B
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Investigator Name, State Specialey,Visic Fee
"Jones, Thomas"™ NJ, Pediatrics, 80
mamith, Hary", NJ1,Synecology, 120
"Eumar, Sanjay"™,DE,Pediatrics,B85

A, 5A5 program is submitted and poduces the folimwing log entry:

i data xaites

2 infile 'sites.csv' dlie=',' d=d ;

3 input investigator narme % state $ specialty § visit_fee ;
L] rumn

HOTE: The infile 'sites.csv' is:
File MName=C:45i5 Exaw Datahsites.csv,
RECFE=V,LRECL=256

NOTE: Invalid data for visit fee in line 1 35-43.
RULE: i Tt e e t e e e e e e el e e e e
i Investigator Fame, State,Specialty Visit Fee 43
investigator name=Investig state=State speclalty=Specialt visit fee=. ERROR =1 N =
NOTE: 4 records were read from the infile 'sices.cav'.

The minimum record length was 32.

The maximum record length was 43.

Which option would you need to add to the INFILE statement to clear the notes from this log?

A. firstobs=2
B. missover
C. Irecl=2
D. start=2

Answer: A

QUESTION NO: 31

Given the following entry in the SAS log:

26 proe transposse datasvitals cut=tresp (drop= label )
27 by inv_no patid ;

28 id wisit

29 VAL rCesp :

30 cun

WARNIMG: & observarions omicrced due o missing ID valuss,
NOTE: There were 22 observation= read from the data set WORE.VITALS.
NOTE: The date #&t WORE.TRESP has 8 chasrvations and 6 variables.
WNOTE: PROCEDURE TRANSPOSE used [Total process time) :

real Eime 0.04 seconds

cpu Time 0.03 =secoads

Which alternate method could you use to?

- 23
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* Not produce a warning message in the log

A. Use PROC TRANSPOSE with a WHERE clause to omit records with missing VISIT
values

B. Use PROC COPY with SELECT statements
C. Use PROC DATASETS with SELECT and MODIFY statements
D. Use a DATA step with conditional OUTPUT statements

Answer: D

QUESTION NO: 32

Given the following partial output data set:

SUBJID VISIT AGE LGECAT

101 1 28 2
103 1 q2 3
105 2 18 1
106 1 56 A
10v 1 55 3

Which code was used to create AGECAT?

A.

if age <18 then AGECAT=1;

if 18<=AGE<=40 then
AGECAT=2; else AGECAT=3;

B.

if age <=18 then do AGECAT=1;
else if 18<AGE<=40 then do
AGECAT=2; else do AGECAT=3;
C.

if age <18 then AGECAT=1;

else if 18<=AGE<=40 then
AGECAT=2; else AGECAT=3;

D.

if age <=18 then AGECAT=1,;
else if 18<AGE<=40 then AGECAT=2;
else AGECAT=3;
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Answer:-B

QUESTION NO: 33

The following SAS program is

data WORK.DATE INFO:
¥=!'049ul2011"d;
DavyvofMonth=day (x] 3
MonthofVear=month (x1 ;
Tear=year|xi;

run;

Which types of variables are DayofMonth, MonthofYear, and

Year?

A. DayofMonth, Year, and MonthofYear are character.
B. DayofMonth, Year, and MonthofYear are numeric.

C. DayofMonth and Year are numeric. MonthofYear is character

D. DayofMonth, Year, and MonthofYear are date values

Answer: B

QUESTION NO: 34

Given the following data set (AE):

subject Lfirstdt
ool ZENCVZ009
ool SEBNCVZ2009
D01 2ENCV2000
ool ZEMCTZIO0D
ooe 13JANZO10
Qo2 13JANZ2010
ooz 13JANZ2010
ooz 13 JANZ010

aeterm
NOSEELEED
HEADACHE

FRACTURE
VOHITING

COUGH
FEVER
MIGRAINE
DIZIINESS

asstdt
2TNOVEO09
O3DECZ009

QanECZ008
1EDECZ DO

13JANZ010
19JANZ010
Z3JANZOD10
O3FEBZ010

day

11
ig

11
22

Data will be reported by onset week. Day 1 ?7 is Week 1, Day 8 7?14 is Week 2. Events beyond
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Which statements properly assign WEEK to each event?

A.
if day > 14 then week = 3 ;

else if day > 7 then week = 2

; else if day > 0 then week =
1;
B.
if day > 0 then week = 1 ;

else if day > 7 then week = 2 ;
else if day > 14 then week = 3 ;

C.

select ;

when (day > 0) week =1 ;
when (day > 7) week = 2 ;
otherwise week = 3 ;

end ; D.

select ;

when (day > 14) week = 3 ;
when (day > 7) week = 2 ;
otherwise week = 1 ;

end ;

Answer: A

QUESTION NO: 35

Study day is defined as DCMDATE minus RFSTDTC +1

DCMDATE

« ig character data in ¥YYYMMODD format
«  containg partia date values

RESTOTC

« i3 character data in datas format
« contains missng values

Which statement will compute the study day correctly without producing notes for missing values

in the log?

Get Latest & Actual IT Exam Dumps with VCE and PDF from Pass4itSure.

https://www.Pass4itSure.com



A. STUDYDAY=DCMDATE-RFESTDTCA e
B. STUDYDAY=input(DCMDATE,yymmdd8.)-input(RFSTDTC,date9.)+1;

C. If RFSTDTCA=" and length(DCMDATE)=8 then
STUDYDAY=input(DCMDATE,yymmdd8.)- input(RFSTDTC,date9.)+1;

D. If RFSTDTCA=" and length(DCMDATE)=8 then
STUDYDAY=input(DCMDATE,date9.)- input(RFSTDTC,yymmdd8.)+1;

Answer: C

QUESTION NO: 36

A Treatment-Emergent Adverse Event (TEAE) is commonly defined as any event that occurs on or
after the date and time of:

A. informed consent

B. baseline assessment
C. study enrollment

D. first dose of study drug

Answer: D

QUESTION NO: 37 CORRECT TEXT

The following question will ask you to provide a line of missing code.

Given the following data set work.vs:

gubjid wvisit shp

RO1S6 1 146
o156 z .
AD156 3 152
AD156 + .
hO156 5l

The following SAS program is submitted to create a new data set that carries forward the previous
value of sbp when the value is missing.

- 27
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daces workivslz
Zinsert pEssing code kherer
set wvork.vs;
if =bp MNE .
else sbp = old shp;
run;

cthen old sbp = =sbhp:

In the space below, enter the line of code that completes the program (Case is ignored. Do not
add leading or trailing spaces to your answer.).

Answer: RETAINOLD_SBP;,RETAINOLD_SBP;

QUESTION NO: 38

This question will ask you to provide a section of missing code.

Given the input SAS data set LABRAW:

PTID
ioD1i
1001
ooz
iooz2

LABTEST
R
HCT
AT
HCT

DATE_1

12/20/2010
12/20/2010
12/18/2010
12/18/2010

DATE_ 2

12/27/2010
12/27/2010
12/26/2010
12/26/2010

The following SAS program is submitted:

LA 1 LAB 2
2.16 z.34
0.43 0.5
Zid 2.3
0.3 0.4

data lab new ([(keep = ptid labtest viszit date cesult]:
set laEran:
array dat{2} date 1 date 2Z;
array num{zZ} lab 1 lab Z:
<ipsert code herax

run;:

The following output SAS data set LAB NEW is produced:

FTID
1001
1001
1001
1001
1002
100z
1002
1002

LABTEST
ANC
ANC
HCT
HCT
AT
ANC
HCT
HCT

VISIT

O3 b [0 pt B g B

DALTE

12/20/2010
12/27/2010
12/20/2010
1272772010
12/18/2010
12/26/2010
1z/18/2010
12/26/2010

RESULT
.16
<34
.43
<8

SO RNNDOD R

B L

28
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A.

doi=1to 2;
visit=i;
date=dat{i};
result=num({i};
output;

end;

B.

do i=1to 2;
visit=i;
date=dat{i};
result=num({i};
end;

output;

C.

do i=1to 2; do
j=1 to 2; visit=i;
date=dat{j};
result=num{j};
output;

end;

D.

do i=1to 2; do
j=1 to 2; visit=i;
date=dat{j};
result=num{j};
end;

output;

end;

Answer: A

QUESTION NO: 39

Given the following SCORE data set:

29
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